1.

16 2] of=2] 75

> E

> ®eb: 57

sholat,

169 oF+= 1, 2, 4, 8, 16°]H

whabA] 570l et




,-4.2

8
27,--,0,5
) 2 ) ) )

o0 | eV
|
gl Ul g0 Ul
%0
A A A N

-

ul
RO

A

-

ull



10
) ‘g

® -2 2agt @) 2t

6| 6

2l=2=12
o3

10/ 10

—|==—=333
®‘3 3
®0

@ -2 o gage 2 =25 Ik

® 59] Adigk2 50|t}
watA 71 2 = 5]t




telet.

S

3ol 3 Bk 59 H50] A48 7

A9

4.

474

ull

)l A4 -3,3,-5,5°| B2 4 7o},







6. 38T} -5t

E.
]:l
A<|x|<BE ‘?}

A=(-3)-(-5)

=(-3) + (+5)

—4(5-3) =

B=(-2)+ (+6) = +(6 —2) = +4

Z 2<|x<4°B2 |x=2 3,4
wabA x = -4, -3, =2, +2, +3, +4 2] 6 7] o]t}




7.

ohe % AN APt o Shtg B

o},

© (-n*
@ —11000

@ _(_1)100
@ _11001

Q@ -14

=-1

©(-1)t=1
© —(-1)1% = -1
@ (-1)10! = -1
@ —11000 — _3
@ —11001 — _3




o & AL 237 Y 2] Yl gE Sk

1
T 16

@(%) s (—g) @ (~24) + (+6)
®

D= (D)2




9.

e 5 &7

boies
rlo

AL

O 32 =27

@ 2x2x2=23=38

@ 3x3x5x5=32x52=0x25=225

1 11
2x2x2x2 247 16
© Y A —
2%x3x3x5%x5 2x32x52 540
1 1 1
® = =
2Xx3xX3x5xH 2x32x52

450




10. 2209] £&Q149] 3F& FotH?

02 @4 0z @s o




11. o8 % 8 3 A2 47} ohd AL

l_.

@® 3 @ 5 @6 @ 7

6 I 8 o] HrjFofrE 2 0|22 247} oyt




12.

Ai%e0] 2 AaTH47t 72 o U, F 420] Fl4 % 200 BTk AL

_TIZ__ 2~
52 nE nad @ 2 )

@ 36 @ 72 ® 104 @144 ® 180

B4t HAFu0] wigol B Hagulsel 72 o] w4 72

144,216, 288, 360 , -+ = 200 BT} 2 4= 72 144 o]t}




13. 5 Aol Hojzetss) 11, 24
ot?

® 358 @ 409 ® 421

THlsrt 42 Q o, %

9]

@) 462 ® 500
®

I
filo

B

5 4 A B 9 HAYFSFE G,
AXB=LxG °E=2

A x B =11x42 o]t}

. AXB =462

H2FW4E L olet




® 3 @)6 ® 9

ExnsolA Mg 2 181 24 9




sfolzt.

_ZF_

% Aol Mg 2 45 o, ARzl 7
=
=

2~
-~ T
o, b-a

15. o3
5t

11
4 — , =D
» + 7+107

T
8

33
8

)




Ho

mn
H_mlo
B

ojn

Ho
T




o N[>
=N I
—he o I Il
e o e
N NN .
w |G I _
S~— SN— N~—
_ X X

X X X
A | e N
[a\|

% 1“4 a




18. TS & T 4 22x3x52x7, 2x32x5x11 9] FHofZoF5 FL5HH?

@2x3x5 @ 22 x3%2x52
® 2x3x5xT7x11 @ 22x32x7x11

® 22x32x52x7x11

el
:
i3
o

014> 2 2|47 e 25 esto] FohH EHEE 2x3x5

o
e




19. o= oM BdT &
AL 10 Btk 29
ZAHCHY, vk Tl Aol EWsHe A7
® 286428 @ AT
)27 A 20 8 G 2ATA0E
® 278 Al
140 0|22 5 A] 0]% 140 & 0]52l

35 @tk

b= 20 20t T3 et Ak

ST ek @A 5 Ao Al DAt FA O]

20, 35, 10 9] HAZuj5L

Al ZhE
5A] 4 140+ = 5A] 4 24|17k 20+
— 7A] 208




20.

EY &7 22 270, 2470, 60 7HQ1 A, B, ¢ Al EYHIHZ TS 1

At Zo] A= grEd Sk Al HHF7F B AL SEE A=

oAl BHE el FYEH] C = 2 HHFE EotoF 5h=A] totol et
A B C

[ = ol

> &g evHd

B \

2) 72 24 60
2) 36 12 30
3) 18 6 15
2) 6 2 5

3 1 5

23 % 32 x 5 = 360
72, 24, 60 9] FAFHl4E360 O] 22
360 )
= = =6 (5H]) =otof sttt

. 681




g4 1 A7} % 49

o 16 28 24
75" 45" 25

T

Al

21.

~ B
T
WO
D QIS

75, 45, 25 2] HAFu4 225 o]t}

b=




o, AAstoat.
22. o8 Ae V }{4+ e

9[22 -

» E
> ®™e: 7

(24

9—[-4-
9{4
9-{(-4

(+®x{4+u 3]

+3)

}_9 2=7




23.

13 o]5te] A O] F-2 2ol e o
Z4=9] 2|4=9] g2 p 2t S5HA}. o|Wl, o — b 2] F
> =13

DRSI= |

1x2x3x%x---x13
=2x3%x22x5X(2x3)x7x23x 32
X(2x5)x 11 x (22 x3) x 13
=210x3°x52x7x11x13
a=2+3+5+7+11+13=41
b=10+5+2+1+14+1=20
a-b=41-20=21




24. 360 ° oF9] 7|} 23 x 3¢ x 50 O] 0 ATt ZE Wl a+ b 9
%}\——10_“7 (11:_}-, a, b '11__—_ Z]— \_'T')

@ 2 @3 ® 4 @ 5 ® 6

360 = 23 x 32 x 5 o| B & k0] 4Tt 2] YA a = 2,
b=1%=a=1,b=2 0|tk
a+b=3




25. % 34 x,yol thste] xo] ARG 6, yo| A
Vg 2GS a7V A g b e T v axb O G Fatelek

@ -10 @—1 @0 @ 5

B

x—y9 ARG 6 < 9) =
x—yO HEFL 6-9=

sa+b=15=+(-15) = -

x=+46,-6, y=+9,-90| 2

6+9=15
=15

wabA g = 15, b = —15 ot}




